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ST. JOSEPH’S COLLEGE (AUTONOMOUS), BANGALORE-27

B.Sc. CBCS – IV SEMESTER

END SEMESTER EXAMINATION: APRIL 2017
EL OE 4116 - Number System and Logic Circuits
Time- 1 ½ hrs

        


                                    Max Marks-35
This paper contains THREE printed pages and THREE parts

PART-A

CHOOSE THE CORRECT ANSWER FROM THE OPTIONS GIVEN        10X01 = 10 Marks                                                  
1. The octal equivalent of decimal number 127 is _____
a) 177

b) 7F

c) 1111111

d) 77

2. In BCD addition of two, two digit numbers 6 is added in the process of addition when ______ 

a) When the sum of the nibble is greater than 15

b) When the sum of the least significant nibble is greater than 9 

c) When the sum of least and most significant nibbles are greater than 9

d) When the sum of the most significant nibble is greater than 9

3. The keyboard of a present day computer is an example for ________ code
a) 8421
b) Bar code

c) ASCII
d) Extended ASCII

4. The next number in the counting of hexadecimal number 9AFEF is ______
a) AB0F0
b) 9AFF0

c) 9B000

d) 9AFEE

5. ____ is called an universal gate

a) OR

b) AND

c) NAND

d) XOR

6. The symbol for two input XNOR gate is __________
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7. IC ________ is a JK flip-flop
a) 7400
b) 7486
c) 7476
d) 7490

8. A decade counter needs _____ number of flip-flops

a) 5

b) 4

c) 3

d) 10

9. In the block diagram, the flip-flop is ______ triggering
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a) Level 
b) Negative edge 
c) Positive edge
d) Negative level

10. The circuit given is a 
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a) SISO shift register


c) 4 bit Asynchronous counter 

b) Johnson counter               
d) Ring counter

PART – B

11.  MATCH THE FOLLOWING                                                       5X1 = 5 Marks                                     

	a) Gray code equivalent of 110111
	1) Flip-flop

	b) Binary equivalent of 37 is
	2) XOR gate

	c) When all inputs are high we get output high
	3) Counter 

	d) When odd number of inputs are high we get output high
	4) 100101

	e)  One bit memory device
	5) AND gate

	
	6) 101100


PART – C

ANSWER ANY TEN QUESTIONS                                                     10x2= 20 Marks

12. Convert 255.5 into binary
13. Subtract 27 from 120 using 2’s complement method.
14. What is an ASCII code and mention its disadvantages over extended ASCII.
15. What is an excess-3 code? Give an example. 
16. Write the circuit to obtain AND gate, its symbol and truth table.
17. State De-Morgan’s theorems.
18. Simplify the Boolean expression 
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19. Write the output of the given circuit.
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20. Write the symbol of a positive edge triggered D flip-flop.

21. Write the circuit of a 4 bit SISO shift register.

22. Write the truth table for a 4 bit ripple up counter.

23. Write a note on memory devices used. 
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